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2. 715 A4

7t A4

1A A
® E &
BEw | AaRA | SHm | dolm) | HASADOWLE) | AFHE
MB1-00 4 120 200x2
MB1-01 6.5 120 3,000x1 ks
Ak RTE  + — FHH g &
MB1-02 9 220 10,0001
MB1-03 9 192 10,0001
MB1-04 9 200 10,000x1 o]
AR5 s
MB1-05 9 237 10,000x1 st
MB2-01 9 200 10,0001 Aol
A5 - il
MB2-02 9 188 10,000x1 At
MBE-01 12 360 170,000(GT)x1
| MBF-02 9 240 50,000(GT)x1
MBF-03 9 60 500x1
MBF-04 9 60 500x1
MBF-05 9 60 5001
MBF-06 9 60 5001
- |- 7Y
el MBF-07 9 60 5001
AR Aol
MBF-08 9 60 5001 s
MBF-09 9 60 500x1 |
MBEF-10 9 60 5001
MBF-11 9 240 20,000x1
MBEF-12 10 240 20,000x1
MBF-13 10 240 20,000(120,000GT)x1
MBF-14 9 240 20,000(120,000GT)x1 |




R kL 4)(m) dolm) | HFSADWLEH) | HFE
Eg*%é g %.EHEF MBS-SA 55 123 1,000x1 A2AH, f2A
MBS-01 14 300
MBS-02 14 300
Al
— MBS-03 16 300 50,000%5 Filz CIIE
S 1R
MBS-04 16 300
MBS-05 16 300
MBD-01 5 101 1,000x1
MBD-02 5 139 5,000x1 5
L R =2
MBD-03 5 50 500x1 23}
MBD-04 5 9% 1,000x1
Ealz CINE
gsn= MBQ-01 11.0 210 20,000x1 Y=
Y 5ol 8 &
#z4 303
oo MBK-01 5 175 300x10 il
T 1,000x10
SKE=¥ MBE-Q3 75 150 5,000x1 R
AT 5,000x2 st
AAAFET | MDKOL 75 130 3,000x2 o=
. 3,000x3
78y OLH-01 45 794 100053 -
ZAkoky OLS-01 45 378 1,000x3 =g




